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GEOGRAPHY OF PUNJAB

Semester–IV

Time Allowed : 3 Hours] [Maximum Marks : 45

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

7½ marks each and the entire Section C

consisting of 5 short answer type questions

carrying 3 marks each.

SECTION—A

1. Discuss in detail about the Physiographic divisions

of Punjab. 7½

2. From Geographical point of view how soils of Punjab

could be classified into how many types. Give a

detailed description of each class. 3,4½

3. Write a Geographical essay on Malwa Region.

7½

4. Give an account of major Hydro-Electric projects

of Punjab. 7½

SECTION—B

5. Discuss in detail about the density of Population.

7½

6. Discuss the characteristics of Agriculture of  Punjab.

7½

7. What do you mean by ‘Green Revolution’? What

are the main factors responsible for Green

Revolution in Punjab? 2,5½

8. Describe the characteristics of Industries in Punjab.

7½
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SECTION—C

9. Answer the following questions : 5×3=15

(i) Extent of Present Punjab.

(ii) Seasons of Punjab.

(iii) Thermal Power Plants of Punjab.

(iv) Major canals of Punjab.

(v) What is the meaning of Transportation?

PUNJABI VERSION

n otn otn otn otn ot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy

hryk pRSn dy 7½ AMk hn[ Bwg C swrw kro[ ies

ivc 5 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk

pRSn dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. pMjwb dy DrwqlI BwgW bwry ivsQwr pUrvk vrxn

kro[ 7½

2. pMjwb dIAW im`tIAW nUM BUgoilk idRStI qoN ikMny

vrgW iv`c vMifAw jw skdw hY? hr ie`k vrg dI

ivsQwr pUrvk jwxkwrI idau[ 3,4½

3. mwlvw pRdyS qy BUgoilk lyK ilKo[ 7½

4. pMjwb dIAw mu`K px-ibjlI XojnwvW dw vrxn

kro[ 7½

BwgBwgBwgBwgBwg—B

5. pMjwb dI vgoN dI Gxqw bwry vrxn kro[ 7½
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6. pMjwb dI KyqIbwVI dIAW ivSySqweIAW dw vrxn

kro[ 7½

7. hrI kRWqI qoN kI Bwv hY? pMjwb iv`c hrI kRWqI

Awaux dy kI kwrn hn? 2,5½

8. pMjwb dy audXogW dIAW ivSySqweIAW dw vrxn

kro[ 7½

BwgBwgBwgBwgBwg—C

9. hyT iliKAw 'qy sMKyp au~qr ilKo : 5×3=15

(i) vrqmwn pMjwb dw ivsQwr[

(ii) pMjwb dIAW ru`qW[

(iii) pMjwb dy qwp ibjlI Gr[

(iv) pMjwb dIAW pRmu`K nihrW dy nwm[

(v) AwvwjweI qoN kI Bwv hY?
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